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FEAMBARE  (9.35m * 21.35m & LTHEH)
M4 g 100m? 2 L) = H -1
S2&ME $2.0 % 50 * 50 140m2 100m * 1.4 = 140
KEY $16 * 400L 304 3/10m * 100m = 304
INEY ®9 * 200L 1502 152%/10m? * 100m2 = 1504
SR 9.0m/ 1.5m+ 1 =7K
7&K * 21.35m * 4 = 597.8m
EMBG D13 675. T8kg SR 21.0n / 1.5m + 1 = 15K
15 * 9.35m * 47 = 561.0m
{(597. 8m + 561.0m) * 0.995kg/m} / (9.35m * 21.35m) * 100m % 1.17 = 675. 78k
EXAICIERTOERET S,
F7Uh— D16 * 750 534 it TR * 4% 1558 = 10655
10548 / (9.35m * 21.35m) * 100m? = 534
BROHMET OERET S,
BT h— D10 * 400 504 1o+ A% 145 F = 985
984 F / (9.35m * 21.35m) * 100m? = 507
HERES 21.0m / 1.5m * (9.0m / 1.5m + 1) = 98{&
RI—ZAE | 350 * 20088 9518 HERERES 9.0n / 1.5m* (21.0m / 1.5m + 1) = 90f@
(9818 + 90ME) / (9.35m * 21.35m) * 100m2 = 95{&
PERE 118.49 / 360 * 7 % 0.10242 — 0.176 = (0.1024 — 0.05) / 2
+0.15 % (0.176 + 0.35) / 2 = 0.0457m2
BELSIL , #eE 9.35m + 154 + 21.36m * 74 = 289. Tm
Wi b350 * h200 5.93m SEGFEIRGER 0 0134/ 57  GELUE)
0.0134m® * 74/ * 15K = 1.407m
100m224 1 A% (0. 0457m * 289. Tm — 1.047m%) / (9.35m = 21.35m) * 100m* = 5.93m®
_ 2 g - 2
—— 55, 7t 0.35m * 289.7m - (0.35m)2 % T4 /7 * 154 = 88. 53m

100m? - {88.53m / (9.35m * 21.35m) * 100m?} = 55. 7m?




